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" The figures m the rtght-hand margin mdzcate marks.

Candidates are required to give their answers in their-

own words as far as practicable.

1. Answer any ten questions: | 2x10=20
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i)  Symbolize the following by using logical
notations of propositional functions and
quantifiers: " "
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No one will succeed unless he works hard.
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ii) Whatare the Laws Qf{ Théught? Give exaxnples.
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iii) Why is the relation of contrariety not accepted
_ as a logical relation in modern logic?
S TR @ Refs R difes
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- i) Are 'two . propositions necessarily
contradictory if one is true.and the other is
false? Justify. |
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©*Vv)  What is the difference between a sét of

- contrary terms and a set of contra
terms? '

vi) 'ReduceA the following sentences into standard
form categorical proposition:
A thing cannot be both green and black at one
and the same time,
m@mmme_wm AR |
Construct the truth table of the following:

R TR 511 359 ¢

(P>q)> (= :
q>~
viii) What is an analogica p)

'%""F‘I%ﬁ??
When is an argument fy

- vii)

gical argument?

ix). o
m invalid?
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457/Phil (C)

[2]

dictory
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"~ x) What is contingent statement form? Give an

example.

wmmmzmmasﬁmmu

'xi) Whatis bad analogy?

- 4B Tt e R Qe

xii) What do you understand by 'sufficient .
condition'? Give an example.

siffel % FeTCs R b2 oS SrieRel e |
xiii) What is Mill's formulation of the method of
difference? : '

a3 I Awfox @l [Fe -

xiv) How many stages are there in a scientific
investigation? What are they?

IR SETEHIEE 0 U AT o B e
. xv) What is Truth function? . '
HOJIAHS DICP AFT?
Answer any four questions: ' 5 x4=20

AT SIS e Tew e

i) a) What information about non-A may be
derived from "All A are B"?
‘B A B” (B “T-A” 7@ oy isqt
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b) Determine the logical relation between iv) a) _Determiﬁé, by using a.truth-table,
. the following two propositions; 2+3 whether the fol!dwing is a logical
ﬁﬂﬁﬁ—mm cﬁmmﬁ‘ﬁl | equivalent ;. | .
s W@mew@ﬁmm" :
All men are mortals, [p - (q r)] [(p 5q)D r]
~ Some non-mortals are men. b) Useatruth table to determine the validity '
AT R TF e | “(or mvahdlty) of the following argument
| mm@‘“ﬁﬁ@ﬁ{« : form: o | . |
ii) What is: existential fallacy? Explam w1th an '. ™ - o a
~ example. W Yo I8
| WWWW?quWWl A:PD‘(qu)_' '
iii) Use truth table to determme the validity Ofth PDOq
follo © ~Por
wing al'guments 2L491 E
2 2 . . e . . o . .
TR IR e y) Distinguish between scientific and unscientific
33 ;j %ﬁ ol fefa explanation. S 5
| e ¢ SRR RURIER e LT
a) (IVJ):,(IJ) ;
. vi) What fallacy - occurs in the followmg forms
~(1v1) of syllogism?
o~ (LJ) e TR — Wﬁwﬁs ama%ca?
b) csp " i) - AAA-2 if) - OAQ_—4 )
:. C>(Cp) |
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. 3. Answer any two questions: -
-Gt {5 s Tex wie ¢ -

i)

10x2=20

Construct formal proof of validity for each of

the following arguments: ‘ - 545
FrfeRe IReefirm svmers tuet e w7 ¢
~a)  To(Uv) I
7 Us(WX)-
(ToW)>(Y=2)
: ,(TA.DW)D'*-Y
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p) .Bananas and grapes are fruits, Frults are

nourlshmg Therefore, Bananas are
nourlshlng (Bx Gx, Fx, Nx)

Wewﬁaﬂmumﬂoﬁm.m\
TN A1 (Bx, Gx, F, Nx)

Test"the validity of the followmg arguments

by using Venn diagram : . 845
cebLa vnqm
o ﬁﬁﬁ% {ﬁmﬁa el ﬁrsm
a) No séne wit
g : ness incrj
themselves;, - minate

But some’ W1tnesses
1ncr1m1nate themselves

SO some
witnesses are insane,
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'b) No one -present is out Qf,' work. No

members are absent. Théreforé, all
' members are employed. '

Tl IRTR T R W / (PR Y
ﬂfi@mlm\ww':ﬂwt’ﬁq@n
Calculate the probablllty of the following

. events: , - 5+5
- Rw ﬂ%m@%a SISl N
"a) Anum contams 27 whlte balls and 40‘

black balls. What is the probability of
getting four black balls in four
successive drawings (A) if each ball is
replaced before making the next drawing,
®B) if the balls are not replaced? .
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b)  What is the probability of getting three

red cards in a row in drawings from a

deck of playing cards?
G ST e (A O G e 277
oG =it ©F 28T Aol o ?

iv) Prove the invalidity of the following
arguments by assigning truth values: ~ 5+5
AOJe WA Aafo a Feate gfeet™
SIS 2l 1 8 -

a) MD(NVO)
ND(PVQ)
QDR
~(RVP)
S~M

b)

animals are mammals. Some animals are

not mammals. Therefore, all horses are
animals,

(TT QR (91F BA G, e 2l
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Horses and cows are mammals. Some



